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The 95% lower confidence bound is 4.0036. Because 
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Remove 3 1.5’s. n = 17 (originally, n = 20).
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(a) Sign test.
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(b) Wilcoxon signed-rank test

	Observation
	Difference
	Signed rank

	1.4
	-0.1
	-(1+...+7)/7

	1.4
	-0.1
	-(1+...+7)/7

	1.6
	0.1
	+(1+...+7)/7

	1.6
	0.1
	+(1+...+7)/7

	1.6
	0.1
	+(1+...+7)/7

	1.6
	0.1
	+(1+...+7)/7

	1.6
	0.1
	+(1+...+7)/7

	1.3
	-0.2
	-(8+...+11)/4

	1.3
	-0.2
	-(8+...+11)/4

	1.7
	0.2
	+(8+...+11)/4

	1.7
	0.2
	+(8+...+11)/4

	1.8
	0.3
	+(12+...+15)/4

	1.8
	0.3
	+(12+...+15)/4

	1.8
	0.3
	+(12+...+15)/4

	1.8
	0.3
	+(12+...+15)/4

	1.9
	0.4
	+(16+17)/2

	1.9
	0.4
	+(16+17)/2
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From Table IX, 
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The CI is (0.1009, 0.2791). Because 0 is not contained in the confidence interval, the two polishing solutions differ.
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